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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

O gferer $r W&I’Ié’ . éﬁﬂé’ %’: Question 1D : 9864493065

. . . Status : Answered
The SI unit of resistance is: _
Chosen Option : 3

Q2 fqm 7T 99 F AL T6 A I gH Il o F v efaraa Question ID : 9864493755
Pl 3 @ e el ) o
Status : Answered

FAT X - 5 HH HEAT 87 X U adfde 68 § Chosen Option : 1

U
1. X -15 u&F ol &
2. X -10 = fws quiies &

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Is X — 5 even? X is a real number.

Statements:

1. X —15 belongs to integer
2. X —10is an odd integer

Ans x1_
Fad FUC |1 TG § ST9fh had w2 2 AT £

Statement 1 alone is sufficient while statement 2 alone is insufficient
x 2 Gl Fel 1 3 FUeT 2 9T #el &

Neither statement 1 nor 2 is sufficient
3
Fad FUT 2 T § 9 Fad Fe 1 HReT g

Statement 2 alone 1s sufficient while statement 1 alone 1s insufficient
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Both statements 1 and 2 are sufficient

x

Downl oad RRB ALP TECHNI“CIEK
it gAed &

Exam St udy Not es

Q.3

AR % & TER §l  TgT TN & AT GE! TEH & AG W A T
T F T § TEer TR F 12 Awgy fRh oA 10 REt F s
#l 58 w2 P W = F BT 4 7S TR F Aoy dv 8 g R F
AL I e WA weEm?

Type 1 workers can do three times the work of Type 2 workers. Twelve Type 1 workers
can complete a task in 10 days. How many days would it have taken 4 Type 1 and 8 Type
2 workers to complete the same task?

X116
X217
< 320
v 418

Question ID : 9864492729
Status : Not Answered
Chosen Option : --

Q.4

39 faFed & 93 # S IR & ¥ 38 W G6fa § 8 e g e
ugel T & gafdd

Y
( \ [ 0 ?

N

Select the option that 1s related to the third figure in the same way as the second figure 15
related to the first figure.

Question ID : 9864494154
Status : Answered
Chosen Option : 3

Q.5

file:///C:/Users/C

& 71w g 9 N Y 3R Fo o & ved @ Scal ¢ & o A A @
e |1 P T Bl

AT sl 1 ATAT el TG & 7

qey

1. T o MRE & a9, 3cad ud g, el wial &1 g faar &1

2. 9 @7 37T Gt & AT e agd TG g

Consider the given question and decide which of the following statements is sufficient to

answer the question.

Is Raju fond of travelling?

Statements:
1. Raju has seen East, West, North and Southern parts of India.
2. Raju likes to be i the company of his friends.

F R
TRE T 3ca Gof & folT, a2 Fae TAed § W a1 el T der
dl

Statement 2 alone is sufficient but statement 1 alone i not sufficient to answer the
question.

2
95T &l 3co ol & [T, a1 sheael TATCT § W G 2 dhdel G adgl
l

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the

Question ID : 9864494153
Status : Answered
Chosen Option : 4

questy
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9T 1 I &) & e, gl arar us @y gdica & wig et & awaa
Fper AT A £

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

< 4
g 1 g 2 @y &, gAied FE1 § AR wed F 3ecw & & o sfafe
SR T IHTTLURT B

Statements 1 and 2 together are not sufficient, and additional data is needed, to answer the
questior.

Q.6

R & A5 ge A Rad S g 8. St O S g

Nodes of Ranvier are microscopic gaps found within:
HTEEH eATECH
osteoblasts
 , R E
gland cells
< 3 ﬁ@m
chondroblasts
" AfoASd T

myelinated axons

Ko

Question ID : 9864493135
Status : Not Answered
Chosen Option : --

Q.7

& TAlTR 3 THie S [RE % oeE Hie §, oA aaAeT 7
Serdrr safo eyl aes & e 9 aw §2

‘Who is the author of the book ‘The Association of Small Bombs’, which is currently
shortlisted for the International Dublin Literary Award?

& Hglaled

' Karan Mahajan

| A s
Chetan Bhagat

, SATHAT e
Namitha Ghokhale

. R T

Arundhathi Roy

v

x

Question ID : 9864492322
Status : Not Answered
Chosen Option : --

Q.8

Ans

file:///C:/Users/C{

ABCS$+#DEF&=?GHI!2+@

FR T FqHA & 3990 3 el T A
ABC :@=2 :$#E

ABCS$+#DEF&="GHI!2*[@

Find the missing term using the above sequence:
ABC: @*2:S#E:

X 1. HH!
X 2 1HG
X 3 2H!

Question ID : 9864493859
Status : Answered
Chosen Option : 4
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Ans

Dovvnl oad RRB ALP TECHNITY
Eﬂﬁ 7E|T Teh I.ﬂ'Eﬁ'@‘CF %- Question ID : 9864493396

Which of the fOUDWi_ﬂg iz a Sapmtroph? Status : Answered

Chosen Option : 3

i 1 = 2 =
Mushroom

R
X2

Q.10 &3 arv s @t wg #Afdv 3 Avia fifse &F i ar @) @Heeg s 7

Question ID : 9864493914
Status : Answered

&1 I AR F ARPF T A IFEHOT F § (TS E)

YT Chosen Option : 3

HEIAIRT 1 =g Acafes 9¢ © ¢ HOW B o T &1 Sl ger
I o SiEe Taw 7 TR 3 W gl

o
1. TER HT 2 AhE ) el Soel damigel
2. TIHN I ARG B R e arfge s et & o o Jere
FeTrel =nfgu]

Consider the given statermnent true and decide which of the conclusions logically follow(s)
from the information given in the statement.

Statement:

The population in metro cities is increasing tremendously which leads to the shortage of
living space and a drop m living conditions of the people.

Conclusions:

1. Government should re-plan city development.
2. Government should demolish illegal buildings and build cottages for people.

X faswy 1 3R 2 gt IEor = 2
Both conclusions 1 and 2 follow.

xz_ﬂa‘ﬂ 3R & 2 ITTEROT R B

Neither conclusion 1 nor 2 follows.

hael feisehy 1 3JEIOT T Bl
Only conclusion 1 follows.

Fael Y 2 HTEIOT T B

Only conclusion 2 follows.

W 3

X4

file:///C:/Users/C

Question ID : 9864494167
Status : Answered
Chosen Option : 3
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[T AT P
F & ffvad 7 & e a1 a9a g
derced:
1. F© Bl Afeadt §l
2. o wfesrar @y =T g

forsae:
1. S Bl @ AL
2. T Hewt Bl {1

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
1. Some fruits are vegetables.

2. Some vegetables are not edible.

Conclusions:
1. Some fruits are not edible.

2. Some vegetables are fruits.

Ans x1_13ﬂ12a’lﬁaﬁaﬁ%‘|

Neither conclusion 1 nor 2 is correct.

dhael foisery 1 HEl g

Conclusion 1 18 correct.

el eIy 2 W &

Conclusion 2 13 correct.
L 3T 2 &4 @@ g

Both conclusions 1 and 2 are correct.

<2

W 3

x

Q.12aﬁm§$mﬁgwmw(mﬁ2018ﬁmmm?aﬂﬂm
Fa &7
‘Who is the newly appointed Governor of Tamil Nadu as of February 20187
Ans
X1 . T
K Rosaiah
2. =
Banwarilal Purohit
| eI Afers
Satyapal Malik
aE E F

Question ID : 9864492407
Status : Not Answered
Chosen Option : --

v

X 4

Subramanian Swamy

Q.13 Frafaa & @ g 3cE & 7o # 9K @ % TSR, 7 seTE &
7Fw & g gl B afoma gerehifa gem

An increase in price of which of these products will have a ripple effect in increasing the .
prices of many products, thereby resulting in inflation? Chosen Option :1

Ans wﬁ-ﬂﬁ
W

Petroleum

Xzié

Medicines

Question ID : 9864492338
Status : Answered
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A4
Q14 Faer +T BFEF AU F T F hFT BT AT g7 Question ID : 9864493179

Status : Answered

Momentum is measured as the product of :
A1° s B ST ST
Mass and inertia
X o FeA 3T &
Mass and force

| STt 3R
Mass and velocity

Chosen Option : 3

v

x 4 G 3R @t
Mass and acceleration

Q.15 weh 3o g9oT, Foreeh Brener oS £ (@G ) &, H HE (u = 4/3) H gaaw ST
F1 g 3 gIUT Y Biekel SiETS FAT g

A convex mirror of focal length f (in air) is immersed in a liquid (u = 4,/3). The focal
length of the mirror in liquid will be: Chosen Option : --

Ans of 1 f
X 2 (4)3)f
X 3 (3/0f
X4 (7/3)f

Q.16 13%@@%@@3@%@#&3&%?%%%?
12 A W ¥ I TR Ui 34 g W @ U A A aSH ok g@ld
F & oA S A Ag fEEh G 5 et T o qgaoh 8| HEh
Tl AT AT

A ladder 13 m long reaches a window which is 12 m above the ground on side of a street.
Keeping its foot at the same point, the ladder is turned to the other side of the street to
reach a window 5m high, then the width of the street is:

Ans (1. 173:“?1
17m
16 HreT
16 m
14 AT
14 m
15 AT

15m

Question ID : 9864493144
Status : Not Answered

Question ID : 9864492458
Status : Answered
Chosen Option :1

X2

K3

r 8

Q.17 T g foreter 7 ?
A G A 2 A el & S SR FIY FE I &7 Question ID : 9864494123

Status : Answered

R+JM2$#QR?+0@7F3 Chosen Option : 3
The number of symbols that are preceded by a number in the given expression 1s .

R+IM2$#QRT*O@TF3

Ans X1_4
X23
X 32
VES

Q.18 ‘

Question ID : 9864493870

Ctntiin - A
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e T el & o foT T E
X AT Y & FiF ¥ TR dow &7

Fe:
1. X o1 31ft e 3ftfEem faw &
2. Y o A W 30 weeer = am

Consider the given question and decide which of the following statements is/are sufficient
to answer the question.

Between X and Y who is the better dancer?
Statements:

1. X had given more dance auditions.
2. Y had given more stage performances.

&I 1 3R 2 gt wEed §

Both statement 1 and 2 are sufficient
X2
T FAT 13N T FAT 2 T &

Neither statement 1 nor 2 is sufficient
5 3.
3ol HYS 1 GITT § Fafh HUT 2 3hel YA §
Statement 1 alone is sufficient while statement 2 alone is insufficient
W 4
T FYA 2 GATCT §, FSTh FUT 1 3RS YT §

Statement 2 alone is sufficient while statement 1 alone is insufficient

x

U F=r STET F WEdF P ¢

Ans

The reflector of a search light is a:

Jcdel gUUT

convex mirror

12.3“5 A g

r 0

concave mirror

3_W6‘5‘UT

plane mirror
4 SR EI0T
cylindrical mirror

x

Question ID : 9864493583
Status : Answered
Chosen Option : 2

Q.20 A 2018  3UFY AFFN F HFAN FAQEE S & TAAL AN da Fi=

Ans

I'.

file:///C:/Users/C

&

‘Who is the MD and CEQ of Allahabad Bank as of March 2018?
x 1 ICEIIRICE )
Chitra Ramakrishna
X2 fSr@r orAT
Shikha Sharma

HATHIHITT
v 3 g

Usha Ananthasubramanian

4. ‘ w

x

Question ID : 9864492434
Status : Not Answered
Chosen Option : --
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Q.21 37T gatater et woteled & e g, 3l

Question ID : 9864493138
Asexual reproduction differs from sexual reproduction in that in asexual reproduction,
. Status : Answered
Ans ‘, 1. Chosen Option : 3

AT ST A HTAT-TdT & TA A &
the new organisms are genetically identical to the parent

a Soietet # FAS JT g ¢ |

the gametes are produced in reproduction
IHF & Shgehi & HoAdaT 21T ¢ |
the nuclei of gametes fuse
xfﬁﬁﬁﬁﬁﬂﬁhﬁl

the offspring shows variations

< 3

Q.22 37 3cal-HTFfa (Answer Figure) & I &1 ST &1 a8 WoA-3THTT (Problem ] _
Figure) & fod Toe & T 3uged #1 Question ID : 9864494058

Status : Answered
Chosen Option : 3

Answer Figures

A B C D
Select the Answer Figure that fits in the blank space in the given Problem Figure.

Problem Figure

- Ao

el
gl 2

Answer Figures

A B C D

Ans ?(1_(:
X 2B
v A
X 4D

Q23 QP A Fo g FTaT 7
qE HEAT F PAA T ARAT FEAT A7 Question ID : 9864492843
Which of the following numbers will have an irrational square root? Status : Answered

Ans x1_ 1024 Chosen Option : 4
* 22401
X 3 4096
v+ 2048

Q.24 v T 90 fraiaey Ui B¢ aa F U 100 HeX o I F AN HE

¥ T 10 TS &7 TG S &1 TS 1 S et F e Question ID : 9864492590

A train takes 10 seconds to cross a bridge of length 100 m travelling at 90 kmph. Find the Status : Answered
length of the train in metres. Chosen Option : 4

Ans 2<1-130
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v 4150
Q5 T AW R N it T s T s s R = a8

FIT W FUA =T 2
FIAT ABC Fr fhr Sdr @

A

1. F9 ABC & 75,000 F1g=T T 70/- Wiy 797 & foama & &)
2. 35N & 4T F ABCH W S GO 37NG A4 &

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How was the sale of the company ABC?

Statements:

1. The company ABC sold 75000 units of soaps each at T 70/-.
2. ABC has no other products in the production line.

&)
FueT 1 3t 2 2 & 3T s9w & ¥ Rw g £

Both 1 and 2 are sufficient to answer the question.
X2
3T F9E & F T Fue 2 e qAeg §, SERE Fus 1 3R TIe Jdr
gl
2 alone is sufficient while 1 alone is not sufficient to answer the question.
< 3
3T A" & & AT HUT 1 kel TATT g, ATk el 2 Hhol qATT 74l
2l
1 alone is sufficient while 2 alone is not sufficient to answer the question.
< 4
sRT FEE & F B T O FuT 1T &2 99T &

Neither 1 nor 2 is sufficient to answer the question.

Question ID : 9864494327
Status : Answered
Chosen Option : 1

Q.26

= e o A FRT AL B HR c F AR § 10 R F s S ) F o EFR
BH RN oo g Ht Tt B T A TN o Bl e @ T A & g
3Fer s & forar woa s

A swimming pool is filled in 10 hours by three tankers A, B and C. The tanker C is Twice
as fast as B and B is twice as fast as A. How much time will tanker A alone take to fill the
swimming pool?

x 1. 90 e
90 hours

x 2 20 1514
40 hours

v 1514
70 hours

X 4 S0 T
80 hours

Question ID : 9864492572
Status : Answered
Chosen Option : 3

Q.27

Ans

file:///C:/Users/C

Te TAI] H Al hr HEAT e aE g @2

The number of neutrons in an atom is equal to the:

Question ID : 9864493287
Status : Answered
Chosen Option : 3
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X2 2

Atomic number

(Smm-mﬁﬁaﬁrm

Mass number — atomic number
x4 STl T HET

Number of electrons

Exam St udy Not es

Q.28 sier FfaUT & FgEw o 7 Praefa # ¥ #i7 o 3Rw F= P

Ans

Which of the following is the last element in Newlands Law of Octaves classification?

r R0
Rhodium

X2 :
Radium

wirer

Iron

(4.eﬂﬁtm

Thorium

< 3

Question ID : 9864493353
Status : Not Answered
Chosen Option : --

Q.29 v dagedd F H FEAA, fws AN Fr e 3Ed A & U e

Ans

g, T e F AAT & ST §1 O S Fear 3N Mered Hr e
g foreaT 87

The volume of a right circular cone, whose radius of the base is same as one-third of its
altitude, and the volume of a sphere are equal. The ratio of the radius of the cone to the
radius of the sphere is:

X111

<234 1
X33 32
viis 3

Question ID : 9864492995
Status : Answered
Chosen Option : 4

Q.30 fw 1w Foret R AR FT AR T W T QA I F § AT Fue

Ans

file:///C:/Users/C

7 siedfaifgd 28

SATIGHT &1 Walca# =ifd gl

FHefATe:
() EFeER der Aifd IR 8
(I g2 oA & Smmerll gielr & =anfgu

Consider the given statement and decide which of the given assumptions is/are implicit in
the statement.

Statement:
Honesty 1s the best policy.

Assumptions:

(I)  Honest people are policy makers.
(II)  Each policy must contan honesty.

xmﬂﬂﬂm(')ﬁ?("}ﬁﬁﬁﬁﬁﬁﬁ%l

PR

Question ID : 9864494345
Status : Answered
Chosen Option : 1
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«z_aa‘rmm(l)aﬂnr(n) gl

Neither assumption (I) nor (II) is implicit.

Faer 3t (1) fAfga

Only assumption (II) 1s implicit.

Faer 3gAE (1) e &1

Only assumption (I) is implicit.

X3

X 4

Q.31 wral 2018 # 396y ATER F HJAR, T S M FaRER IwE
(droagueh) & emer Ha 2

‘Who is the Chairman of the Economic Advisory Council to the Prime Minister (PMEAC)
as of February 2018? Chosen Option : --

Ans " e g
Bibek Debroy
X2 HAT &=
Amit Mitra
<3 el
Amartya Sen
ATAT %’qgﬁ-rr

Najma Heptulla

Question ID : 9864492385
Status : Not Answered

K4

Q.32 AT a7 oy arer BIED FIeT Oear &
3 a@ il l N l =T % Question ID : 9864493191

Name the metal that can be easily cut with a knife: Status : Answered

Ans Hi'—g"— Chosen Option : 3
X
Copper

Aluminium

Q.33 Frafaf@a Aaer &, wa fes (?) G@nT G@mr = 95 aeuiead ¥ | v

B . PN ————— Question ID : 9864494171

Status : Answered
ST, TU,UV,VW,? Chosen Option :2

In the following series, one term is missing as shown by the question mark (?). Select the
missing term from given options.

ST, TU, UV, VW, ?

Ans X1 \WY
v 2 WX
<3 WZ
XKWV

Q.34

Question ID : 9864493883
Status : Answered
Chosen Option : 3
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RrToTee Heptel & oot fager .

How many triangles are present in the following figure?

ans X 1.13
X210
V12
X1

Q.35 4.0 foreiamA 9 7 v arg A fam # soder 9fa #9s # oy ¥ ag

W ¥ sEH ol 10 Ay wfy W52 T wow & A, gEww TR @ s Question ID : 9864493241
oo grem? ' : Status : Not Answered

A 4.0 kg object is moving horizontally with a speed of 5.0 m/s. To increase its speed to 10 Chosen Option : -

m/s, the amount of net work required to be done on this object is:

Ans 150 STeT
v b
150 7

100 el
Lo

X 2
1007

50T
< 3 ~
5017

75 et
Xa "
7531

Q.36 &yail 2018 W, Hielerrdl & ST EF 'Hiolehidl AISe TTSY = Hifolh
T 2
As of February 2018, who owns the Kolkata-based IPL team ‘Kolkata Knight Riders’?

X1 2
Sourav Ganguly
METE Wled

2
Shah Rukh Khan

RicoRG

Question ID : 9864492149
Status : Not Answered
Chosen Option : --

X3
Subrata Roy

, AT @
Aamir Khan

x

Q.37
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Trafefad Teedt 7 & gafag Asq Gl"l's"]'EFr TIT FL Chosen Option : 3 J

9 : g4t =

Select the related word pair from the following options.

Goose - Geese

Ans X1 She 1 oiehe
Jacket - Jacket
FHIGT : FHST
Sharts - Shart
Tdele : el
Pant : Pants
HiG : Al

Socks - Sock

X 2

W 3

X 4

Q.38 gug X 3 Y vF kA vw @y #1 AN 9@ @ §) 99 & ow gEr @ e
g3 Y & omr @ X F AR IS 81 X 5w fRar & Jg w1 @w 2

In the moming X and Y are walking towards each other in a park. When they meet each .
other, Y’s shadow falls straight in front of X. In which direction was X facing? Chosen Option :3

Ans a%.m.

Question ID : 9864493833
Status : Answered

g
3 ™
East

X 4 IR
West

Question ID : 9864492477

Eenl TTHAH
(e ﬁ) Status : Answered

If the difference between the mode and median is 2, then the difference between the L
median and mean is: (in the given order) Chosen Option : 2

Ans x1_2
V21
X33
X 44

Q.40 ¢ -
foFafoi@d # @ #a 15376 H1 THA &2 Question ID : 9864492803

Which of the numbers given below is the square root of 153762 Status : Answered
Chosen Option : 2

Ans X 1.122
v 2124
< 3134
X 4128

Q.39 7 agees ik F1feaw & i 3aT 2 ¢,/ Aftae 3t Areg & €= s e

Question ID : 9864494163
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el gdor

SIS fe3r 91T e & @1 Sl &, o 38 gar’r
=ffa odor sy =1 99w fifEw?

HEALTHY

Select the option that depicts the correct mirror image of the given word when the mirror
15 placed horizontally below the word.

HEALTHY

e VITHEVILHA
X2YHTLA3IH
“*YHTJA3IH
X+“YHTLAEH

Q.42 forelr Tamm 7 9 o AR To oA §l R TheT A o & S @ i
12 § 3i ol & grate # e 14 71 3 @ o F T aedi

sdtaa 13.1 2 & Fem &F For o £ ' w2 9 Status : Not Answered
° Chosen Option : --

Question ID : 9864492838

In a class, there were 9 boys and some girls. In a test the mean score obtained by the boys
was 12 while that obtained by the girls was 14. If the overall average was 13.1, what was
the total number of students in the class?

Ans x1_21
V220
X322
X419

Q.43 Tr=fafae # & Fw AfEfR gam s== 9l aet aget & Trems

Question ID : 9864493432

e 22
By which of the following processes are metals of high reactivity extracted from purified S =0 TSNS
molten ore? Chosen Option : 3
Ans TS ZarT
39 HYd=A
)

p S0

Reduction by an appropriate reducing agent
<2 45

Roasting

CEEHIINN

Electrolysis

X 4 ST

Calcination

W3

Question ID : 9864494344
Status : Answered
Chosen Option : 3
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BT 30 Fod W AR H E3
Fad H Fedieiied e/el

FYU:
FTEATTRE T FRATCT H 90ET o1 TIfgu]

SeAT:
(1) PRRIET AP & AW FT AEHARD FI0T § |
(1) rden? AT g61g FLA &

Consider the given statement and decide which of the given assumptions 1s/are impheit in
the statement.

Statement:
Teachers must attend workshop.

Assumptions:

(I)  Workshop updates teachers.
(II)  Workshops kill time.

e I () () e @ fae ¥
Both assumptions (I) and (II) are implicit.
7 S () 3R T (1) R ¥
Neither assumption (I) nor (II) is implicit.
. oot 3T (1) FAfRa & 1
Only assumption (II) 1s implicit.
et 1o (1) AR § o

Only assumption (I) 1s implicit.

e ﬁ- ﬁ &1 Gﬁr %q Question ID : 9864492482
Which of the following is true? Status : Answered

Ans 29 53

1___

x

x

v

Chosen Option : 2

& 1z

29 43
vo=—> =
& 12

29 43
N3 —< =
& 12

Xa2_ =

6 12

Q.46 e Tt F FEE 3UgE AFeT o |
F ot e dlr & AT aer saim AT @ € 2 g @ wEfE

g Chosen Option : 1
Fill in the blank with the most appropriate option.

Question ID : 9864493477
Status : Answered

Plants that do not have a differentiated plant body belong to the group .

Ans m
F

Bryophyta
LT nE e
Phanerogams

X SreTpTSer
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x4éﬁ§’mﬂt=;.?:r

| Pteridophyta

Q47 3= v oftay F % gfay siwen F 2 U A @ s W oA

‘When a number of resistors are connected in series in a circuit, the value of current:

r 0

Question ID : 9864493186
Status : Answered

d6dT & Chosen Option : 4
increases

STeM g1 S &

becomes half

F gl &

decreases

v, FATAE

remains the same

Ans

X2

K 3.

Q.48 37 & & a¥ 71, T F HY, TAW H A F G F HS a9 FH el
51 ST T T AT FT AT 61 a¥ ¥ uH H aTAe g et 72

Three years from now Dharitri’s age will be eight years less than twice Eunice’s age. The .
sum of their present ages is 61 years. What is Dharitri’s present age? Chosen Option : --

Ans 1413&

Question ID : 9864492912
Status : Not Answered

r 8
43 years

449 (NH,),S0, % T 30] # fhasr A &t 87 Question D : 9864493588

Status : Answered

How many atoms are present in a (NH4)>SO, molecule?
Ans ‘, 1.15

K213
K312
< 414

Q50 377 Il &1 T F S FAeAifRd WE ¥ G9fEa A8 &

Chosen Option : 1

Question ID : 9864494059
Status : Answered
Chosen Option : 4

© | A[0]

A B cC D
Select the figure that does NOT belong in the following group.

© K| A\|[6]

A B
Ans \,1-5
oy
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X4cC
Q.51 #3elia 31 amad aruit #, 9@ & 108 Bl IS B S TWHE HFT _
Question ID : 9864493174
EIGI]
In Mendeleev’s periodic table, the properties of the elements are considered a periodic Status : Answered
function of their: Chosen Option : 4

Ans [R]:"ll] §a|]:||._-|
v )
Atomic mass

2_3@#13:‘@13%1:51

<

Tonization enthalpy
K 3 d &

Atomic size

X s OIHT0] AT

Atomic number

Q.52 -~ 8
D Question ID : 9864492996
Status : Not Answered
E

Chosen Option : --
e e #, @9 AB @ FRR@r DE ¥ D fig W fAeews v gemr s
T If¢ AB = 12 cm 3T DE = 8 cm &, d BD &1 oi=1s AT HY

A B
D
E

In the circle above, chord AB is extended to meet the tangent DE at D. If AB = 12 cm and
DE = § cm, find the length of BD.

Ans 14'\;'!3 m‘

~<
446 cm

x 2 O WEHIET
5cm

v 4 AT
4 cm

x 4 6 HETHART
6 cm

Q.53 frw FiRfES FEa & Aew & aRT AR wREEE & wa et § e ,
Question ID : 9864492091

& a2
By which legislation were India and Pakistan divided into two independent nations? Status : Answered
Chosen Option : 2
Ans Oifereater fasmse sfafaas
X 1 1947

Pakistan Partition Act 1947
" AR TdIaT AfAfATE 1947
Indian Independence Act 1947

s uifeheaT Fadaar sfafaaa 1947
Pakistan Independence Act 1947

X 4 AT e wfaEas 1947

— e Tw_ a4t A _d A/ A
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Q541 KkWh Question ID : 9864493521
Status : Answered
Ans X 1.3.6 X 10%] Chosen Option : 2
v'23.6x10°]
X336x107%]
K 436%x107°]
Q.55 3 31 3@ o FARr: ¥ 10,000 3R T 15,000 & f4der & 67 W 4% _
P & FROT, T A 8 FER AT ST e aw o Question ID : 9864492905
o) vgS A W F A AR #F RRE 3T # aier S e SEUS ST

Umar and Avinash started a partnership with investments of ¥ 10,000 and ¥ 15,000, Chosen Option : --

respectively but due to a financial emergency the latter had to withdraw his investment
after 8 months. In what ratio should the profit of the first twelve months be shared among

the duo?

Ans X 1.3 : 2
X 21
K32:3

v 41
Q.56 Qrafaf@a & & #ia O7 370 o e a & suidyg gar g

Question ID : 9864493129

Which of the following acids is present in Red Ants? Status : Answered
Ans m T Chosen Option : 2
K1
Malic acid
| I 3
Formic acid

, e e
Tannic acid

, Hieafores e
Oxalic acid

Q.57 3 7w Faa W AR F 3R T FY B & 78 qEuRenst 7 F Fa-dva

T 7 Fedtfed g/ol Question ID : 9864494045
Status : Not Answered

Chosen Option : --

YA

FUEHE THITATRT GanT ¢ Rl TR “FEe0 ARd, 319 2R # A% 1,
firae & 3uF Pt ¥ saer ot 38 @ o=

AR
1. T AR A9 39EHT S @6 A8 T@AT aedl
2. uEfaueEr A 7 a6 W

Consider the given argument and decide which of the given assumptions is/are implicit in
the argument.

Argument:

The campaign of ‘Swachh Bharat”, keep your cities clean, started by the apartment
association didn’t bring much response from its residents.

Assumptions:

1. Residents do not wish to keep their apartment clean.
2. The association had failed in the campaign.

Ans 1 o ar ﬁ:aazmﬁﬁa%l
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1 3T 2 gt gduRonT FidERdT gl

< 2
Both 1 and 2 are implicit.

xsaﬁmqﬁmniaﬁﬁﬁﬁl

Only assumption 1 1s implicit.

(4éaﬂqﬁw23iaﬁ1%ﬁﬁfl

Only assumption 2 is implieit.

Q.58 faw =17 fewedt @, fara BT & gAIT 71T &9 F T8 H)

Question ID : 9864494012
Image Status : Not Answered
Chosen Option : --
Options

A B C D

From the options given, select the rotated version of the following image.

Image

Options

A B E D
Ans ?(1_A
v2D
X 3B
X4C

Q.59 9.5% af¥e TWURTT 1= T F1 TR 6 a9 7 T 9428 A ¥ e 7 forar e
T e R o uestion o

At 9.5% simple interest per annum a sum of money became ¥ 942 in 6 years. The sum Status : Answered
initially invested was:

Chosen Option : 4

Ans o1 % 600
23626
X< 3% 675
X 4% 650

A P = | I TC == oo e = e ﬁﬂgm TEAT AT &7 Question ID : 9864492623

Status : Answered

‘Which of the following is not a Triangular number?
Ans of 115

X 210

X35

X 43

Q.61 RaEaTe 3T=aTH T AT IC B T F oWF FiT &7
‘Who is the author of the speculative fiction book ‘Half of What I Say’?

Chosen Option : 2

Question ID : 9864492251
Status : Not Answered
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x ¢ . H AT

K.R. Meera
frer A
Anil Menon
X3 orfer %Y
Shashi Tharoor
x , ST Ty
Namita Gokhale

2

Q.62 FRTHF ROT o F ¥ fEh & e & fada @ 2 Question ID : 9864493580

Negative acceleration is in the opposite direction of: Status : Answered

X 1 ER
force

XZiﬂ

distance

(s.ﬂ?T

velocity

e

momentuim

Ans Chosen Option : 3

< 4

Q.63 2 it #r a7 TEAT AT PIAT S SHF 3R F YOGS H JT I B
Find a two digit number which is exactly three times the product of its digits?

Question ID : 9864492444

Status : Answered
Ans  of 1 24 Chosen Option : 1

X212
X 3. 48
< 436

Q8 T I o TE_‘FT H Ea Question ID : 9864492102

Status : Answered

Pir Panjal Railway Tunnel is located in . Bl Bten 372

Ans
SFH-FIAT
v h
Jarmmu and Kashmir

X2 TeATTer cer
Himachal Pradesh

xs_ﬁlﬁam
Sikkim
X 5 FTS

Uttarakhand

Q.65
Question ID : 9864493931

Status : Answered
Chosen Option : 4
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7
s 3 2
4
8 9
[ 1—Boys (7)) — Athletic
N—> Cricket [ — Disciplined

& 71w a9 aw F IgER, Fa @ AN G5 A vreieEw 7 e o §
3T e o Torr & w1 aniEr 2

7
53| z
4
8 3
[ 1—Boys (O) —> Athletic
£ —>Cricket || —> Disciplined

According to the given Venn diagram, which number represents ‘Boys who participate in
athletics and also play cricket’?

Ans ?(1.1
X 22
<311
V3

Q.66 o= _(h“ﬁ?T UI5ET > o m
Fe Gl qTE"F{ﬂTﬂH E‘H Question ID : 9864493550
‘Which gas is released when water is added to bleaching powder? Status : Answered

Ans mm Chosen Option : 4
Ko
Oxygen

ERE
Hydrogen
x5 FE IS HFASS

Carbon dioxide

(4_9@'&?

X2

Chlorine

Q.67 ¥ 1600 1 TFEr W 6 AT Fr 3@W F fAw, 5% afds AR &7 W 3T
7= fepaar gEm?

The interest earned on T 1,600 at the rate of 5% simple interest per annum for 6 years
would be: Chosen Option : 4

Ans X1.¥ 2,080

X 2% 450
X 3% 496
v+ T 480

Q.ssm,mmwa;mwmaﬁammmaﬁmwimm, )
o 1 e o e TN s - Question ID : 9864492641
= 3 A ¢ RUSHS E et 3T Status : Answered

Tapas, Avi and Rishi shared a cake. Tapas had % of it, Rishi had i of it and Avi had the Chosen Option : 4
rest. What was Avi’s share of the cake?
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Q.69 ue wi=dl Fr aEdT FY @, BRI AeTe U oish o wen, "3 A Ay

Ans

ATATST T Shelldr §¢7 §, T 3T Fael TF 97T § T P Je1 =170 1" ohem

TER @1 o ¥ Ha gEEd §7

Looking at the portrait of a girl, Sheesha, a girl, said, “Her mother is my grandfather’s
only daughter who has only one daughter and no sons™. How is Sheesha related to the girl
in the portrait?

}(1_aﬁﬁm T (3T (A /A5 (Aunt)
Aunt

ELRol

Sister

a1 eisdr ge e g

Sheesha 1s the girl in the portrait

I ERIE]

Niece

X2

v &)

X 4

Question ID : 9864494166
Status : Not Answered
Chosen Option : --

Q70 Ry o1v Frqst & wE & wow F e 3T Yo 1 TAT F

Ans

ey o Jo |

Select the most appropriate term for the given set of items.

Yo Fe
Ko Fer
Pictures

 Eeunen

| Technology
3. ‘ <t

Fine arts

X 4 i

Culture

W2

x

Question ID : 9864494157
Status : Answered
Chosen Option : 2

Q.71

Ans

gt 9x6=457x4=33 3 6x4 =20 %, ar

5% 3 T AT FhcaT glan?
If9x6=457x4=33and 6 x 4 =20, then what 1s the value of 5 x 37

<124
V216
<313
X410

Question ID : 9864494348
Status : Answered
Chosen Option :1

Q.72
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1.

Abhinav Bindra
| U
Prannoy Roy
, 7
Narinder Dhruv Batra
. MW 94dT
Sharad Pawar

Q73 fgu T Hel & |HE & folv Ha¥ 3ugwd g 9o Question ID : 9864494232

Q @il

Select the most appropriate term for the following set of items.

Q @il

Ans '—'-R?l%

x

v

Chosen Option : 4

. Celebration

Q.74 Tt dor F wner AR Aoy T F e Hr vt &7 e R 3 S9 5w

44 = F 9 2 A B B 36 o ofr S A & g 54 & ar Question ID : 9864492825

ST & wer FEF B FEa feoe gEt? Status : Not Answered
The ratio of the numbers of blue to red balls in a bag is constant. When there were 44 red Chosen Option : --
balls, the number of blue balls was 36. If the number of blue balls is 54, how many red
balls will be in the bag?
Ans X 1. 68
< 262
< 3. 64
' 466
Q.75 3@ & A9 WA a1, e Afgeet & ST a5 g O | gger Arfget & Question ID : 9864492932
2 uestion 5
g, fawe 1 g F 2§ vF a9 A o e § aoae ag aw ? Statue - Not Anewered
Seven years from now Virat will be twice as old as Mohinder. Five years ago Mohinder’s ) ’
age was one year less thané of Virat’s age. What is Virat’s present age? Chosen Option : --
Ans 55 a9
&
55 years

, 51 I

[l [Py
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3.

57 years

X 4 53 99

53 years

x
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